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(1) Simulink F# ¥ chap3_lsim. mdl,

' [+ ]
| v v B3
’ Sine Wave Ichap.‘a_lctrl | A }—<+‘chap3_l p]aml =)

S-Function] Saturation S-Function

G—
®— ] .

Clock To Workspace

| (2) Bl TR chap3_lctrl. m,

function [sys, x0, str, ts] = s_function(t,x,u, flag)
) switch flag,
case 0,
[sys, %0, str, ts] =mdlInitializeSizes;
case 1,
sys = mdlDerivatives(t, x,u);

case 3,

sys = md1Outputs(t, x,u);
case {1,2,4,9}

sys=1[1;
otherwise



error ([ 'Unhandled flag ="', num2str(flag)]);
end
function [ sys, %0, str, ts] =mdlInitializeSizes
sizes = simsizes;
sizes. NumContStates = 2;
sizes. NumDiscStates = 0;
sizes. NumOutputs =1,
sizes. NumInputs = 4;
sizes.DirFeedthrough=1;
sizes. NumSampleTimes = 1;

sys = simsizes(sizes);

x0=[00];
str=1[1;
ts=[-10];

function sys = mdlDerivatives(t, x,u)
cl=10,c2=10;

deltau=u(4);

lamdal = x(1);

lamda2 = x(2);

b=133;

sys(1) = —cl % lamdal + lamda2;
sys(2) = —c2 % lamda2 + b * deltau;
function sys = mdlOutputs(t, x,u)
cl=10,c2=10;

xd = sin(t);

dxd = cos(t);

ddxd = — sin(t);

x1 =u(2);

x2 =u(3);
deltau=u(4);
f=-25%x%2;
b=133;
D=10,

lamdal = x(1);

lamda2 = x(2);

dlamdal = lamda2 — c1 * lamdal;
dlamda2 = — c2 * lamda2 + b x deltau;

e=x1-xd- lamdal;
de = x2 — dxd — dlamdal;

c=1.5;
s=cxetde;
xite=D+0.5;

fai=0.02;
if abs(s)< = fai
sat = s/fai;
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else
sat = sign(s);
end
vt= —1/b* (c* x2+c2* lamnda2 + (cl — c¢) * dlamdal + f — ¢ * dxd — ddxd) — 1/b * xite * sat;

sys(1) = vt;
(3) #EEX 4 FRAF: chap3_lplant. m,

function [ sys, x0, str, ts] = s_function(t,x,u, flag)
switch flag,
case 0,
[sys,x0, str, ts] =mdlInitializeSizes;
case 1,
sys = mdlDerivatives(t, x,u);
case 3,
sys = md1Outputs(t, x,u);
case {2,4,9}
sys=1[];
otherwise
error([ 'Unhandled flag ="', num2str(flag)]);
end
function [ sys, %0, str, ts] =mdlInitializeSizes
sizes = simsizes;
sizes. NumContStates = 2;
sizes. NumDiscStates = 0;
sizes. NumOutputs = 2;
sizes. NumInputs =1;
sizes.DirFeedthrough=1;
sizes. NumSampleTimes = 1;

sys = simsizes(sizes);

x0=[50];

str=1[1;

ts=[-10];

function sys = mdlDerivatives(t, x,u)
ut=u(1l);

f=-25%x(2);

b=133;

dt =10 * sin(t);

sys(1) =x(2);

sys(2) = f+b*ut+dt;

function sys = md1Outputs(t, x,u)
sys(1) =x(1);

sys(2) =x(2);

4) MEF#F: chap3_lplot. m,

close all;

figure(1);
subplot(211);
plot(t,y(:,1),'r', t,y(:,2),'b:"', 'linewidth',2);




xlabel('time(s)');ylabel('angle tracking');
legend( 'ideal angle', 'angle tracking');
subplot(212);
plot(t,cos(t), 'r', t,y(:,3),'b:", 'linewidth',2);
xlabel( 'time(s)'); ylabel( 'speed tracking');
legend( 'ideal speed’, 'speed tracking');

figure(2);

subplot(211);
plot(t,v(:,1),'k', t,u(:,1), 'k:"', 'linewidth',2);
xlabel('time(s)');ylabel('Control input,v and u');

legend( 'ideal control input,v', 'practical control input,u');
subplot(212);

plot(t,deltau(:,1), k', 'linewidth',2);
xlabel('time(s)');ylabel('Control input compensation');
legend('delta u');
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5 HARIT
(1) Simulink E#J¥: chap3_2sim. mdl,

Position|
v S N B
. chap3 2plant
Sine Wave - Sla.tij hap3_2p Position
uration S-Functionl
™ S-Function2 e
Position2

[ chap3 2rbf |—-——

S-Funetion3

deltap Position3
Positiond

(0)—~] ¢ |

Clock  To Workspace

(2) HEHIZFRF . chap3_2ctrl. m,

function [sys, x0, str, ts] = spacemodel (t, x,u, flag)
switch flag,
case 0,
[sys,x0, str, ts] =mdlInitializeSizes;
case 3,
sys = md1Outputs(t, x,u);
case {2,4,9}
sys=1[1];
otherwise
error([ 'Unhandled flag ="', num2str(flag)]);
end
function [sys, x0, str, ts] =mdlInitializeSizes
sizes = simsizes;
sizes. NumContStates = 0;
sizes. NumDiscStates = 0;
sizes. NumOutputs = 2;
sizes. NumInputs = 4;
sizes.DirFeedthrough=1;
sizes. NumSampleTimes = 0;

sys = simsizes(sizes);

x0=1[1];
str=1[];
ts=1[1;

function sys = mdlOutputs(t, x,u)
x1d = sin(t);

dxld = cos(t);

ddxld= - sin(t);

x1=u(2);

x2 =u(3);
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deltap=u(4);

e=x1-x1d;
de = x2 — dx1d;
c=5;

s=c*xetde;

D=10,;
xite=D+ 0.50;
fai=0.02;
if abs(s)<= fai
sat = s/fai;
else
sat = sign(s);
end
b=133;
f=-25%x%2;
v=1/b* ( —c*de— f+ddxld— xite * sat) — deltap;
sys(1l) =v;
sys(2) =s;

(3) &M 4418 T T #2)F . chap3_2rbf. m,

function [ sys, x0, str, ts] = spacemodel (t, x, u, flag)
switch flag,
case 0,
[sys, %0, str, ts] =mdlInitializeSizes;
case 1,
sys = mdlDerivatives(t, x,u);
case 3,
sys = md10utputs(t, x,u);
case {2,4,9}
sys=1[];
otherwise
error([ 'Unhandled flag ="', num2str(flag)]);
end
function [ sys, %0, str, ts] =mdlInitializeSizes
global cij bj ¢
sizes = simsizes;
sizes. NumContStates = 5;
sizes. NumDiscStates = 0;
sizes. NumOutputs = 1;
sizes. NumInputs = 2;
sizes. DirFeedthrough=1;
sizes. NumSampleTimes = 0;
sys = simsizes(sizes);
x0 =0 % ones(1,5);
str=1[1];
ts=[1;
cij=6x%[ -1 -0.500.51];
bj=5;




function sys = mdlDerivatives(t,x,u)
global cij bj

v=u(l);

s=u(2);

b=133;

xX1=v;
h=zeros(5,1);
for j=1:1:5
h(j) = exp( —norm(xi—cij(:,3))"2/(2*Dbj"2));
end
gama = 10;
for i=1:1:5
sys(i) = 1/gama * s ¥ b* h(i);
end
function sys = mdlOutputs(t, x,u)
global cij bj
v=u(l);

xX1=v;

W=[x(1) x(2) x(3) x(4) x(5)1";
h=zeros(5,1);
for j=1:1:5
h(j) = exp( — norm(xi - cij(:,3))"2/(2 % bj"2));
end
deltap=W'=* h;

sys(1l) = deltap;
(4) P4 FREF . chap3_2plant. m,

function [sys, x0,str,ts] = s_function(t,x,u, flag)
switch flag,
case 0,
[sys,x0,str, ts] =mdlInitializeSizes;
case 1,
sys = mdlDerivatives(t, x,u);
case 3,
sys = md10utputs(t, x,u);
case {2,4,9}
sys=1[1];
otherwise
error([ 'Unhandled flag = ', num2str(flag)]);
end
function [ sys, %0, str, ts] =mdlInitializeSizes
sizes = simsizes;
sizes. NumContStates = 2;
sizes. NumDiscStates = 0;
sizes. NumOutputs = 2;

sizes. NumInputs =1;
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sizes. DirFeedthrough=0;
sizes. NumSampleTimes = 0;

sys = simsizes(sizes);

x0=[100];
str=1[];
ts=1[1;

function sys = md1Derivatives(t,x,u)
sys(1) =x(2);

sys(2) = =25 % x(2) + 133 xu+ 10 * sin(t);
function sys = mdlOutputs(t, x,u)

sys(1) = x(1) ;

sys(2) =x(2);

(5) BT : chap3 2plot. m,

close all;

figure(1);

subplot(211);

plot(t,y(:,1),'r', t,y(:,2),'d', 'linewidth',2);
xlabel( 'time(s)');ylabel('angle tracking');
legend( 'ideal angle signal', 'tracking signal');
subplot(212);
plot(t,cos(t), 'r', t,y(:,3),'d", 'linewidth',2);
xlabel('time(s)');ylabel('speed tracking');
legend( 'ideal speed signal', 'tracking signal');

figure(2);

subplot(211);

plot(t,v(:,1), 'k', 'linewidth',2);
xlabel('time(s)');ylabel('control input,v');
subplot(212);

plot(t,ut(:,1),'k', 'linewidth',2);
xlabel('time(s)');ylabel('control input,u');

figure(3);

plot(t,delta(:,1),'r', t,deltap(:,1), 'k', 'linewidth’',2);
xlabel('time(s)');ylabel('delta');

legend( 'true delta', 'delta estimation');
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(1) Simulink EJ¥: chap3_3sim. mdl,

——{ima]

To Workspacel
o Lo o
. N Mux chap3_3ctrl chap3 3plant
Sine Wave = , N
S-Function S-Function] U To Workspace?

Mux|

30 | | ' | To Workspacel0

Clock  To Workspace

(2) FEHIEY S R chap3_3ctrl. m,

function [ sys, x0, str, ts] = spacemodel (t, x, u, flag)
switch flag,
case 0,
[sys, %0, str, ts] =mdlInitializeSizes;
case 3,
sys = md10utputs(t, x,u);
case {2,4,9}
sys=1[1;
otherwise
error([ 'Unhandled flag ="', num2str(flag)]);
end
function [sys, x0, str, ts] = mdlInitializeSizes
sizes = simsizes;
sizes. NumContStates = 0;
sizes. NumDiscStates = 0;
sizes. NumOutputs = 2;
sizes. NumInputs = 3;
sizes.DirFeedthrough=1;
sizes. NumSampleTimes = 0;
sys = simsizes(sizes);
x0=1[1;
str=1[1];
ts=1[1;
function sys = md1Outputs(t, x,u)
xd=u(l);
dxd = cos(t);
ddxd = — sin(t);

x1l=u(2);

x2 =u(3);
fx= —25%x2;
gx =133,

e=x1-xd;
de = x2 — dxd;

-----E-------------------------------------------------------Eﬁ%&@ﬁ:ﬁ?&ﬁkﬁ&ﬂﬂﬁ%rﬂim =K
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1=5;

M=2,;

if M== % Fixed Step is 0.0001 in Simulink
lamda0 = 0.5001; % >abs(e(0)) =0.50
lamda_inf =0.0001;

elseif M== % Fixed Step is 0.001 in Simulink
lamda0 = 0.51; %> abs(e(0)) =0.50
lamda inf =0.01;

end

lamda = (lamda0 — lamda_inf) % exp( — 1 * t) + lamda_inf;
dlamda = — 1 % (lamda0 — lamda_inf) * exp( — 1% t);
ddlamda = 1”2 % (lamda0 — lamda_inf) * exp( — 1% t);

S = e/landa;

epc=0.5% log((1+8)/(1-98)); % To guarantee log effective, must use the suitable solver
% method in simulink

depc = (de * lamda — e * dlamda)/( (lamda + e) * lamda);

D=3.0;
c =50,
k=10;

E=c * epc + depc;

M1 = (ddlamda * (lamda + e) — (dlamda + de)”2)/(2 * (lamda + e)"2);
M2 = — (ddlamda * (lamda — e) — (dlamda — de)”"2)/(2 * (lamda—e)"2);
M3 = (lamda + e)/(2 * (lamda + e)"2) + (lamda—e)/(2 * (lamda—e)"2);

xite = abs(M3 * gx) * D+ 0.10;

delta=0.020;
kk = 1/delta;
if abs(E)> delta
satE = sign(E);
else
satE = kk % E;
end
ul = —k* E— xite * satkE — M1 — M2 — M3 * fx + M3 % ddxd — ¢ * depc;
ut =ul/(M3 * gx);

sys(1) = lamda;
sys(2) = ut;

(3) BE=XT 4 S R chap3_3plant. m,

function [sys, %0, str, ts] = s_function(t, x,u, flag)




switch flag,
case 0,
[sys, %0, str, ts] =mdlInitializeSizes;
case 1,
sys = md1lDerivatives(t, x,u);
case 3,
sys = md1Outputs(t, x,u);
case {2, 4, 9}
sys=[1];
otherwise
error([ 'Unhandled flag ="', num2str(flag)]);
end
function [sys, x0, str, ts] =mdlInitializeSizes
sizes = simsizes;
sizes. NumContStates = 2;
sizes. NumDiscStates = 0;
sizes. NumOutputs = 2;
sizes. NumInputs =1;
sizes. DirFeedthrough=0;
sizes. NumSampleTimes = 0;
sys = simsizes(sizes);
x0=1[0.500];
str=1[];
ts=1[1;
function sys = mdlDerivatives(t, x,u)
ut=u(1l);
sys(1) =x(2);
sys(2) = =25 % x(2) + 133 % (ut+ 3 % sin(t));
function sys = md1Qutputs(t, x,u)
sys(1) =x(1);
sys(2) =x(2);

(4) BT : chap3_3plot. m,

close all;

figure(l);
plot(t,lamda,'—.r',t, —lamda,'—.b', t,y(:,2) —y(:,1),'k', 'linewidth', 2);
legend( 'upper region boundary', 'lower region boundary', 'angle tracking error');

xlabel( 'time(s)');ylabel('angle tracking error');

figure(2);
plot(t,abs(cos(t) —y(:,3)),'r', 'linewidth', 2);
xlabel( 'time(s)'); ylabel('angle speed error');

figure(3);
subplot(211);
plot(t,v(:,1),'k', t,y(:,2),'r:"', 'linewidth', 2);

e B AEBAEARRERESH TN > SRS RES
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legend( 'ideal angle signal', 'angle tracking');
xlabel('time(s)');ylabel('angle response');
subplot(212);
plot(t,cos(t), 'k', t,v(:,3),'r:"', 'linewidth',2);
legend( 'Ideal speed signal', 'speed tracking');
xlabel( 'time(s)');ylabel('angle speed response');

figure(4);
plot(t,ut(:,1), k', 'linewidth',2);
xlabel( 'time(s)');ylabel( 'control input');

3.4 ETXWHMEYIEEHEMNZIRBEZS
AT 4 H — ol o SR 1 V) e B B R R AR s
3.4.1 RGN

X R4
T =x,
(3.20)
Ty =u+d@)
Hp,z, Mlxe, RS EREAN v, |d (O |<D Rk,

BRI HAR N EZRMEGE AT ] ¢ —>cofif .2, >0,2,>0,
3.4.2 NHE VIR R EEr 2

X 1E ) pR BE SR
tanh(x) :;(i
e’ +e "
WM EYIREEAWT 2 MR . (D] tanh(a) [<1; (D) atanh(x) =0, R AWM

TE DI pRECRT S B i A R
3.4.3  FHIZBEVE S

B XTI (3. 200, T I B R BN
s =cx; +a,
Hr,c>0,
E X Lyapunov BRECH

(3.2D

m 114



)

V=ss=su+d@)
B A
u = —ntanh(ys) — Asgns (3.22)
Hoh p=>0,0=D+2,.4,>0,
|
V=s(— ntanh(xns) — Asgns +d)

=s(— ptanh(yps) —Asgns +d)

=—ystanh(ys) +ds —A [ s |
BT pstanh(ys) =0,

V<—2,s|

MV e 8, Bl Y ¢ —>ocoff ,s—>0,2, 0,2, >0 E## s,

x
et —

T e 1T 3. 22) AT A B G

€ €
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lu |[<p+2
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i il i A 4 52 R
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control input

10 5 20
time(s)

& 3.14  EEHlEA
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i AT .
(1) Simulink F#F: chap3_4sim. mdl,

To Workspacel 0

——=| chap3_4ctrl chap3_4plant ——El

S-Function S-Function To Workspace?

Clock To Workspace
(2) ¥EHIZAEFF . chap3_4ctrl. m,

function [ sys,x0, str,ts] = spacemodel(t,x,u, flag)
switch flag,
case 0,

[sys, %0, str, ts] = mdlInitializeSizes;
case 3,

sys = md1Outputs(t, x,u);
case {1,2,4,9}

sys=1[1;
otherwise

error([ 'Unhandled flag = ', num2str(flag)]);
end
function [sys, x0, str, ts] = mdlInitializeSizes
sizes = simsizes;
sizes. NumContStates = 0;
sizes. NumDiscStates = 0;
sizes. NumOutputs =1
sizes. NumInputs = 2;
sizes.DirFeedthrough = 1;
sizes. NumSampleTimes 0;

’




sys = simsizes(sizes);
x0 =[];
str = [];
ts = [1;

function sys = md1Outputs(t, x,u)
x1=u(l);x2=u(2);

c =30,

s=c*xl+x2;

xite=3.0;
lamda=1.6;
fai=0.01;

if abs(s)<=fai
s_sat = s/fai;

else

s_sat = sign(s);
end
% ut = — xite * tanh(xite * s) — lamda * sign(s);
ut = — xite * tanh(xite * s) — lamda * s_sat;
sys(1l) = ut;

(3) BEIEXT LT . chap3_4plant. m,

function [sys, x0, str, ts] = s_function(t,x,u, flag)
switch flag,
case 0,
[sys, %0, str, ts] =mdlInitializeSizes;
case 1,
sys = md1lDerivatives(t, x,u);
case 3,
sys = md1Outputs(t, x,u);
case {2, 4, 9}

sys = [1;
otherwise

error([ 'Unhandled flag = ', num2str(flag)]);
end
function [ sys, %0, str, ts] =mdlInitializeSizes
sizes = simsizes;

’

sizes. NumContStates = 2;
sizes. NumDiscStates = 0;
2
1

’

sizes. NumOutputs =
sizes. NumInputs =
sizes.DirFeedthrough = 0;

sizes. NumSampleTimes = 0;

sys = simsizes(sizes);

x0=[0.10];

str=1[1];

ts=1[1;

function sys = mdlDerivatives(t,x,u)
ut=u(l);

dt=1.5% sin(t);

sys(1) = x(2);

sys(2) =ut +dt;

function sys = md1Outputs(t, x,u)
sys(1) =x(1);

’
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sys(2) =x(2);
(4 % EFF: chap3_4plot. m,
close all;

figure(l);

plot(t,x(:,1),'k', t,x(:,2),'r:"', 'linewidth', 2);
xlabel('time(s)');ylabel('x1l and x2"');
legend('x1', 'x2');

figure(2);

plot(t,ut(:,1), 'k', 'linewidth',2);
xlabel( 'time(s)');ylabel('control input');

3.5 E-TF RBF MK/ N ZRiBFEEH
3.5.1 &G4k

X R4
T, =x,
Tyo=u+ fo(x)+d@)
Hor oy Mo, IR IERIA ws /o O RRMREL [d (O | <D Hltsh.
Pl B A2 RGPS S AT 523 e oot ) —>0,2, >0,

(3.23)

3.5.2 RBF &M% it
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FG) =Whix) (3. 24)
Iy
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s=cx; tx,

Hp,e>o0,
E X Lyapunov PRECH
V:%ﬁ +%WTW (3.25)
Hrp,y>o0,
|

~

\./:s.s:—iWTW
Y

1~ A

=s(cx, +u+fo(x)+d(t))—7WTW

=s(u+ ) +d@)) —%W'fv"v

Hr, fa)=cx, +f,(2),

B
u = —ytanh(ys) *]?(I) — Asgns (3.26)
Ho,p=>0.0=D+ey +2,.4,>0.
i

V =5(—qgtanh(ns) —f(z) + f () +d 1)) — %WTv'i/
=s(— ptanh(ps) W' h(x) + ¢ +d — Asgns) — %v”vTv'i/

= —ystanh(ys) 4wt (h(x)s — %V;G/)Jrss +ds—2A|s |
T S PR AL 55 7 v BT 1 Y AN
W=7yh(x)s (3.27)
fie BB FE R AL WA E AR £,

T OB RN T SRR B SR R R 2 M4 R (& e, o
SV M T G e W=W W, € X& =h(x)s, g T HiE W' (h<x>s—%v"}/)<o,ﬁ
Wmin< ‘W] ‘ <‘/Vmax ’ H:x

‘X/j =}’proijv(€]-)
Horp
Jo, W, =W, .& >0
prOijv(E]-): 0, ﬁ/j_ <Wmin’5j <0 (3.28)
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~

W:}/proj‘;v(é) (3.29)
K B N3, 29) , AR IE

o

W (h(os — W) <0
Y
T pstanh(ys)=>0,es +ds—2A s | <A, s [

V<—2x, s |
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r —

BT tanh(o) =€ [—1  +17, 0B (3. 26) 17 F5-5 b 5 A B {8
&

e’ +
| u [ 4 e + A
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control input
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(1) Simulink EFF: chap3_5sim. mdl, ;
= g

To Workspacel0 E

S-Function S-Functionl To Workspace? '

Clock To Workspace :

(2) ¥EHIASREFF . chap3_5ctrl. m, ;
function [sys,x0, str,ts] = spacemodel(t,x,u, flag) i
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switch flag,
case 0,

[sys,x0, str, ts] =mdlInitializeSizes;
case 1,

sys = mdlDerivatives(t, x,u);
case 3,

sys = md10utputs(t, x,u);
case {2,4,9}

sys=1[1;
otherwise

error([ 'Unhandled flag = ', num2str(flag)]);
end
function [ sys, %0, str, ts] =mdlInitializeSizes
global bj cij
cij=[-1 -0.500.51;

-1-0.500.51];

bj=3.0;

sizes = simsizes;

sizes. NumContStates = 5
sizes. NumDiscStates = 0
sizes. NumOutputs = 2;
sizes. NumInputs =3
sizes.DirFeedthrough = 1;
sizes. NumSampleTimes =

~-

sys = simsizes(sizes);

x0 =[0.10.10.10.10.1];
str = [1;

ts = [];

function sys = mdlDerivatives(t,x,u)
global bj cij

xl=u(l);x2=u(2);
c =30,
s=c*xl+x2;

xi=[x1;x2];
h=zeros(5,1);
for j=1:1:5
h(3j) = exp( — norm(xi-cij(:,3))"2/(2xDbj"2));
end

gama = 10;
W=[x(1) x(2) x(3) x(4) x(5)1;
Wmin= —1;Wmax=1;

for j=1:1:5
% dw(j) = gama* h(j) *s;
% sys(j) =dw(j);

Kesi(J) = h(j) *s;

if W(j)> = Wmax&Kesi(j)>0
Proj_w(j) =0;

elseif W(j)<=Wmin&Kesi(j)<O0
Proj w(j) =0;

else




Proj_w(j) = Kesi(j);

end

dw(j) = gama * Proj_w(3);
sys(j) = dw(3);

end

function sys = md1Outputs(t, x,u)
global bj cij
x1=u(l);x2=u(2);

c =30,

s=c*xl+x2;

xi=[x1;x2];
h=zeros(5,1);
for j=1:1:5
h(3) = exp( — norm(xi—cij(:,3))"2/(2*Dbj"2));
end

W=[x(1) x(2) x(3) x(4) x(5)];
fp=W=* h;

xite =10;
lamda=1.0;

fai=0.02;
if abs(s)<= fai

s sat =s/fai;
else

s_sat = sign(s);
end

% ut = — xite * tanh(xite * s) — fp— lamda * sign(s);

ut = — xite * tanh(xite * s) — fp — lamda * s_sat;
sys(1) = ut;
sys(2) = fp;

(3) XL IENF : chap3 5plant. m,

function [sys, x0, str, ts] = s_function(t,x,u, flag)
switch flag,
case 0,
[sys, %0, str, ts] =mdlInitializeSizes;
case 1,
sys = mdlDerivatives(t, x,u);
case 3,
sys = md1lOutputs(t, x,u);
case {2, 4, 9}
sys = [1;
otherwise
error([ 'Unhandled flag = ',num2str(flag)]);
end
function [ sys, %0, str, ts] =mdlInitializeSizes

sizes = simsizes;
sizes. NumContStates = 2;
sizes. NumDiscStates = 0;
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sizes. NumOutputs = 3;
sizes. NumInputs = 2;
0;
0;

sizes. DirFeedthrough

sizes. NumSampleTimes
sys = simsizes(sizes);
x0=[0.50];

str=1[];

ts=1[1;

function sys = md1Derivatives(t,x,u)
ut=u(l);

fx =5 * tanh(x(2));

sys(1) =x(2);

sys(2) = ut - fx;

function sys = mdlOutputs(t, x,u)
fx =5 % tanh(x(2));

sys(1) =x(1);
sys(2) =x(2);
sys(3) = fx;

(4) R . chap3_5Splot. m,
close all;

figure(1);

plot(t,x(:,1),'k', t,x(:,2),'r:', 'linewidth', 2);
xlabel('time(s)');ylabel('x1 and x2');
legend('x1', 'x2');

figure(2);
plot(t,ut(:,1), 'k', 'linewidth',2);
xlabel('time(s)');ylabel('control input');

figure(3);

plot(t,x(:,3),'r', t,ut(:,2),"'—.b', 'linewidth',2);
xlabel( 'time(s)');ylabel('fx and its estimation');
legend('fx', 'fxp');
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